F 3 o &

BEARINGS

www.tpi.tw



AR

AN TURE R B 2Bl R 7 BEBARC.W.Musser AU ST #THE 8 - FE
REBaEMN N2 LUEE — A ER B PAANE © MusserioH
W IR L2 EVMFRBEF1500SEEF - A
M7 BEHRNBNEELX  —BRGHAEE - e

SEAEW SR BRAOEURENEEREE S8t
ATEMIRBGAES -

RREETE R ED A TR RO ST I B R
WELERER R EEBRNER 22—
ERERNEREERE - BHOARKE
R R IENEERE -

B R E

R — A E B ER K K ARAY (&
gha% iR - ISR EBAYEN & B A

LRYEEER - WS EE B REE
B8 - A E Bt R 2 (FENLL

| FEHEYSE

TR R F BB E SR EL S (Wave Generator) ~ BT
(Flex Gear) ~ IRt Ml &% (Circular Gear) ~ & X /& fE 8l 7% (Cross
Roller Bearing) * EARFEL R E 7 A (Thin Raced
Ball Bearing) ' AR EEIEEV  MEMNEEZ » RILAELER
ANBELRERSHEENEAM &8 Lt Ea/ 2K Et -
AREREBETUEB 1T B1-2A0MESEEcBRE -

Thin Raced
Ball Bearing

mEP X

BEARINGS

EEmERME Eae s E RRZ e S
5 TPIRGET BRI - ERAFEMATE
B A R EEBE DB -

—— R ERARNE
— &R
———BhiRR

AL
o &§§
—

. P
B I =T

-0.6
24.4 246 248 25 252 254 256 258 26 262
X

B 1-3 EZ0E S B

»HBREE > THER1B0E160MERMERLE ¢ FTARELLERIUER BN - HEHS
*» BIRER/) - B EEIRER KA E LR *HEIRA  SREGELL © 88T/ BB

*FMAEES  AEISEEBRERK

E B

CERE

* HEEERA

* ZAN T ER S MW TE
* FEEIN THE

* KB

o BENRIEE

¢ AR ERELEF

* HitUgR B R F




2. R AR

TOREHEAEER R EAUFRHEEN « R~ BiEH
AEBEEF A —ERSE - HHDIIRF MR- 1A ©

TCS-17-50 - UT

HREIRD AR & B/ AR IR AR
A AT 3R

HERY | RIS | JEERLEE HEABY /AR R
:; 50 UT=fE &8
TCS | 20 80
TSH 25 100 | SUT=EgA&f#E&E
3 120
HST=FhZef S HE & A

¢ TCS=Cup Type, TSH=Hat Type
* BREE AT FZ1ER
## A: Wave Generator, [&E: Circular Gear, #jH: Flex Gear

#R2-1 R SRR RS S

3UREEH ERT R A S
TOREREELUREL R A AR - QI8 S5 HA 8K
(Thin Raced Ball Bearing) * EH AR E@HIRAI B XE
#EEM7% (Cross Roller Bearing) * H¥{EANR3-1F7R ©

PGt S

SX06T01 CRA1016
SX09T01 CRA2018

2 SERE B
(TCS)

32 SRR S
(TSH)

CRC4717

CRC6720

7<3-1 SRR A I FE 2 BhR s

4 BERERE
AEBEREREKEARREAEEEER AR 1B
i EEAERERGHNEEAEEEE A5
BEFEREREO - WE4- /R

BEMIBANRA- 1R - AERARE B 4-2 -

AR
D~

50 E

14 | 17 | 20 | 25 | 32

1.0 1.0 0.5 0.5 0.5

F4-1 BEBERE MR (rc min)

fRAR 5iE

| TSRS

| | fERRSE

Bl4-2 HEHEA

(ge(;) Angle Transmission Accuracy
’ | e=—=Counter-Clockwise
>
v
c
S 0.005
|9}
v
< 0
0
0 50 100 150 200 250 300 350
Output Rotation (deg)
B4-1 BEFREE
N:EN b JEE
5./%/'%‘551_#}5‘5]

HERREREANABERE - HEASEHARE T LBERERETRE -

f 3 o

BEARINGS

>TCS-UT%H|/E|\§1_J | Unit Type xzmryusampose .

set screw

14

73
41
34
27
3.5
16.5
12
56
42.5
31
11

9.4
214
18.5

38

14

23

M4
65

4.5

M4

2-M3

[a)
S

TCS-XX-XX-UT
17 20
79 93
45 455
37 38
29 28
45 6
16.5 16.5
12 12
63 72

49.5 58
38 45
10 14
6 10
9.5 9

235 23

20.7 215
48 56
18 21
8 12
27 32
6 8
M5 M6
71 82
8 8
45 5.5
8 8
M4 M5

- 13.8
- 4
2-M3 -

25

107
52
46
36

18.5
14
86
73
58
20
15
12
29

21.6
67
26
14
42

M8
96
10
55
10
M5
16.3

B{: mm
32

138
62
57
45

6

225
17

113
96
78
26
20
15
37

23.6
90
26
14
55

8

M10

125
12
6.6
12
Mé

16.3

mEP X

BEARINGS

3>

adA) yun - FZEFLLN-




mEP X

BEARINGS

> TSH-NST 2R 5 #H5RY | Simple Unit Type  xsmryussmmuss - > TSH-HUT A Z24H 5 8Y | Hollow Unit Type  semryassmpssse -

Normal Structure Type

E
H. |
— —
m o] O Z m
I || 9 g I
1 1
p XL
n DS c
— i —
o :
e M(EE—) +H
-|'ﬁ L HH.
= B - — — - BRESEHERETRRITEE  BONHNRE R RS =
§[|] TSH-XX-XX-HUT B mm ]]P
- TSH-XX-XX-NST BEfAL mm il
B s A 14 17 20 25 32 +
]:|>' Rt 14 17 20 25 32 r
A 70 80 90 110 142 oA 70 80 20 110 142
hH . st — — = hs B 525 56.5 515 555 65.5 g:
wn C 235 26.5 29 34 42 c 12 12 > 6 / g
- 5 = = i 5 5 D 20.5 23 25 26 32 S
_g E >4 3 3 33 3.6 E 20 21.5 21.5 23.5 26.5 -
ry F 14.1 16 17.5 18.7 234 F 3.5 5.5 . . g S
c G 7 7.5 85 12 15 G 9 10 10.5 10.5 12 ==
S H 6 6.5 7.5 10 14 H 8 8.5 9 8.5 9.5 —
prig b 48 60 70 88 114 | 7.5 8.5 7 6 5 §
;I @) 32 38 45 56 75 J 2.5 25 - - - )
o K 1.5 2 1.8 2 2 PK 74 84 95 115 147
I L 17.6 19.5 20.1 20.2 22 oL 36 45 . ) . v
\/ PN 50 60 70 85 110 AN 14 19 21 29 36
¢(|3 ‘:’Z :‘Z g ? 22 82655 %0 36 45 50 60 85
zo g 8 o o 4 oP 54 64 75 90 115
R i i B 5 i Q 21.7 23.9 25.5 29.6 36.4
S - - M3 M4 - R 3 3 : - .
oT N B 16 20 N S 8 12 12 12 12
U 8 12 12 12 12 T 35 3.5 3.5 4.5 55
oV 3.5 3.5 3.5 45 5.5 PU 64 74 84 102 132
W 64 74 84 102 132 Vv = = 6 6 6
X 2 4 4 4 4 w - - M3x6 M3x6 M3x6
Y M3 M3 M3 M3 M4 PX - - 25.5 33.5 40.5
a - - 4 4 5 Y 12154308 201953 Fh16 16 16 16
b - - 12.8 12.8 16.3 Z M3x5 M3x6 M3x6 M4x7 M5x8
c 8 16 16 16 16 da 44 54 62 77 100
d M3 M3 M3 M4 M5
pe 44 54 62 77 100
set screw 2-M3 2-M3 - - -
®
(4] TP X ()
BEARINGS




mEP X

BEARINGS
> TSH-HST RZERG 5 #H S B! | Simple Unit Type  xzmryusammuss. > TSH-HST RZERG 5 #H S B! |Simple Unit Type  xamryuanammamst -
Hollow Structure Type Hollow Structure Type
B TSH-XX-XX-HST B mm
—ChC2 G Ry~ 14 17 20 25 32
E PA 50 60 70 85 110
/\ NG| B 52.5 56.5 51.5 55.5 65.5 /\
1 C1 16 16 9.5 10 12
7 i 2 235 26.5 29 34 42 -
:.E fg 2 c3 13 14 13 11.5 11.5 :.E
T SRS g 3 D1 2.4 3 3 3.3 3.6 T
7 S D2 14.1 16 17.5 18.7 234 wn
— I D3 7 7.5 8.5 12 15 —
+H | E 6 6.5 7.5 10 14 B
HY GF 70 80 <) 110 142 HY
Y JGE | K G 48 60 70 88 114 oY
< PH 31 38 45 56 73 <
SO P - — BRI RETRRTER | B R RRGT S | P 38 45 53 66 86 SO
E B B rJ< 1i7 2i1 125; 125 125 E
E:Z cl c?2 (CZ’> c’ c?2 (CB) L 8 12 12 12 12 E:Z.
= = = e a5 oM 35 3.5 3.5 4.5 5.5 =
w ﬁ ﬂ oN 64 74 84 102 132 wn
3 0 = o) - - 6 6 6 =
o) % oy I > qm | P - - M3x6 M3x6 M3x6 b o]
Y 1 f2 f3 9499 °ee A (f2) 3 944 ?Q - - 25.5 335 40.5 o
c 7 — | — | R 12194 Fh8 20155 FR16 16 16 16 c
S iy = S M3x5 M3x6 M3x6 M4x6 M5x8 S
~ T $3.5x6 @ $35x65 | $3.5x7.5 ©45x10 | $5.5x14 puri
zl #14 #17 #20 U 44 54 62 77 100 ?
S al 22 27 32 42 49 I
) . . a2 - - - 40 - o
BE 20 25 30 38 45
v c1 2 (c3) cl c2 _(c3) a4 i . : - 42.5 v
d2 d3 d4_ d2 a5 14 19 21 29 36
— “@I b1 22 27 32 42 47
T — i b2 . - - 40 -
b3 20 25 30 38 a5
NG T o 349 S99 o 193 ba 14 19 21 29 36
1 f2 f3 1 f2 f3 cl 20 21.5 19 20 29
- 2 20 21.5 20 22.5 23.5
EEEEEES Uﬁ “—*—@; c3 12.5 13.5 12.5 13 13
d1 2.5 2.5 - - -
d2 7 7 7 7 13.9
#es #se d3 7 7 7 7 -
d4 - - - - 1.9
el 14.5 19.5 21.5 29.5 36.5
f1 10 10 10 10 10
f2 225 245 19.5 225 30.5
f3 20 22 22 23 25
(6] meP I (7]
BEARINGS




HSL D3

adAL ylun Yeys indu| - FF S EEY B LNS-

> TSH-SUT &g A BB S 2! | Input Shaft Unit Type semr-rusmmmsss.

#

R 14

>

0} 74
50.5
15

20.5

- — I MONOmMmMmMmQUOUNw
o

S &
— X
()]

S o
Oz =<
- N Un
PSRN

S S
o O T©
w
U

0.5
1219453718
M3x5
44

<X sST<cCcHw

S
N

#14 #17

TSH-XX-XX-SUT

17 20
84 95
56 63.5
17 21
23 25
16 17.5
16 20
10 10.5
8.5 9
3 3
12 16.5
8 10
45 50
64 75
80 90
12 16.5
12 12
3.5 3.5
74 84
- M3x6
= 8.2
- 3
- 3
0.5 -
20195316 16
M3x6 M3x6
54 62

25

115
72.5
26
26
20.5
25
10.5
8.5

22.5
14
60
20

110

22.5
12
45

102
M5x10
11

16
M4x7
77

B{: mm
32

147
84.5
26
32
26.5
25
12
9.5

22.5
14
85
115
142
22.5
12
5.5
132
M5x10
11

16
M5x8
100

f 3 o

BEARINGS

MEMO




mP X

BEARINGS

PRETERNDBIRZAG] TUNG PEI INDUSTRIAL CO., LTD.

10688 Bt B ZRIZIIER 142551042
EiE | +886-2-2741-7321 {HE : +886-2-2741-6623

EaPREIrEBIRAT SHANGHAI TUNGPEI ENTERPRISE CO., LTD.

201613 EIBMANT T @A L2 REX 156555
BEE  +86-21-5774-4698 {EH : +86-21-5774-4695

CAT. NO. 2262/TC
BRANGZ AR BHE AR E LRREN Z BN AMTPITHEASARMEARHRGERAR - BERMES - BOANBTHAEMNEE - FRFHATPI

Although care has been taken to assure the accuracy of the data compiled in this catalog, TPI does not assume any liability to any company or person for errors or omissions.



	TD-0818
	TD-0706
	TD-0626

	TD-0818-2
	TD-0818-3
	TD-0818-4
	TD-0818-5
	TD-0818-6

	TD-0823-3
	TD-0823-4
	TD-0823-5
	TD-0823-6



